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The direction ratios of the straight line 11217327
X=19 Y =i¥ =-15 e
g =y g e o -1 = 0=
15
(A) 19,17, 15 JBY 13,11, 9
(C) 12, 17,9 (D] None of these

56. Tt X-11_Y-12 z+13

2 - 13 - 3 e § R faeg @ e 2 2

(A) 11,12 13 (B) 11,12,-13
(C) 12,13, 14 D =-11,-12, 13
Through which of the following points does the line

x-11_y-12 =z+13

12 T e S el
(A) 11,12,13 OB 11,12,-13
© 12,13, 14 D) -11,-12,13
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m I—E.%H——dx =

con x +ainx

(A} BN X— COs x + |

{C}] sinx+cosx+k
83 .Ej—{ﬁjﬂ.tﬂx'l'ﬁinﬂ}:

dx

(A) —-sin(rx+8in=)

(C) =—sinzx

-1
84 Imn {tan~ " x) dx=
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TR 3y =24

X200, a0

Minim;jze s TN
i ki
subject 1 3+ 4y <o
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23. IR p(g)-3 :
Al== prpy=l i : .
5 b=3 PlanB|=L @ P[%r] Al F["i“-)
£t
If Pla)=3
B

24,

20

26,

nrmwﬁ%ﬂmﬁuﬁhwmmmﬂ?.ﬂﬁzﬁsﬁmﬂﬁﬁw
wifeEm & 7

A dic is thrown. Find the probability of the occurrence of a number
less than S if it is known that only odd number aceurs,

a2 y=cosJcosJx , A —3—% ELa ]

d
If y=cus.,l'r:usv'r;1 then find E—%

firg i f& 3 f:R— R many-one into ¥, 6 fF f(x)=x? xeR.

Prove that the function f:;R—+R is many-one into, where




L X

6. qﬁl-t 5‘=24.a}x*mﬁwg| zL.[Trf_ 5

F}i{_. T{
\? [f!i f! =24, then find the value of X

sl x=-5¥=6
7. W x2+y2=35#mﬁqmnmﬁﬂﬁ

- of the curve at
In the curve x? +y'? =36, obtain the slope

where x=~5,y=6. (%) ¢ gi)"r, 34 gl =3¢
8. WN 5% f(x)=x®-4x+3 x% 9t FHHT B

2.

iy i) x=3

2 i Teves
Examine whether the function fix)=x"-4x+3 18 incre,

decreasing at the following va{uas of x: & E:_,L-f" A %':}
() x=] i =x=3 |-4y§3
9. fEsifs Ems'ix=cus'j{2x2-l}-
Prove that 2cos ! x= cns'][2x2 ~1].
10 cosec™2 1 5oy 5 3 2
Find the principal valys of cosec ™19
1 l 23 'E?s :
1. sin 12
-{ Xcos Xdx &1 99 7 & <3
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e
(A) a-hb (B)
o]
(C) a+bhb (D)

If odds in favour of event £ bea: b

& =3 (B)
b
SO T (D)
STl 1 7 fram @

(Al PlANB)=P(A).P(B)

then P[E];

oo Ot
o
a ?\t\ =

)

(Bl P(ANB)=P(A)+P(B)-P(AUB)

(C) PlANB)=P(A).P(BfA)
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